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Q.No: 1 A-horizon layer of soil profile is also called as?

2426885
el iwrsd &t A-fafast wa &t
Middle Soil
A
ey fugh
Top Soil
B
i farg
Bedrock
C
SRR
Bottom Soil
D
R $1

Correct Ans : B

Subject : General Knowledge

Q.No: 2 PM SVANidhi scheme is related to

2427385
Yied @A e REIBCE]
Farmers
A
frar
Women
B
afgen
School Children
C

wgolt T=

D Street vendors

1t &gl o1 B
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geury fashar

Correct Ans : D

Subject : General Knowledge

Q.No: 3 Target Olympic Podium Scheme (TOPS) was launched in which year?

2427397
TRAle SMdfde tifsan wim (TOPS) frd ad & &t 718 e
2018
A
2018
2000
B
2000
2014
C
2014
2012
D
2012

Correct Ans : C

Subject : General Knowledge

Q.No: 4  Which of the following country is not a member of SAARC but a permanent member of UN Security Council?

2428884
fofifed & 9 S 1 <X 9Ie 1 Jaw ol dfch Tgad Y GRef URYE B R 9&d 872
Afghanistan
A
BT
Bangladesh
B
Fieew
India
Cc
YR
China
D
L]

Correct Ans : D

Subject : General Knowledge
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Q.No: 5  Who is the current Army Chief of Pakistan?

2428938
TP & TAHH 1 U B 82
Ashfaq Pervez Kayani
A
SBTP UAS AT
Raheel Sharif
B
T TE
Syed Asim Munir
C
dag onfim TR
Mirza Aslam Beg
D

forait srgerw A

Correct Ans : C

Subject : General Knowledge

Q.No: 6 The Great Barrier Reef is located in which sea?

2429071

e R Iw 5w T 7 fRa 32

Black Sea
A

DIl AR

North Sea
B

I AR

Red Sea
C

Tl AR

Coral Sea
D

PRA AR

Correct Ans : D

Subject : General Knowledge

Q.No: 7 Which country is the largest producer of zinc?
2429072

Rics b1 Tad TS SAGH S B 7 72

A Peru
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Chile

China

o=

Australia

Correct Ans : C

Subject : General Knowledge

Q.No: 8 covers a firm’s interactions with its customers and suppliers over the internet.
2430695

$eAT R 30 UGS SR MYfdaraian & WY U HH &I I Bl HaR Bl g

E-Trading
A
§-efem
E-Business
B
ERCEE]
E-Partnership
C
§- UERRY
E-Commerce
D

S-Brad
Correct Ans : D

Subject : General Knowledge

Q.No: 9  Who was the governor general of Bengal during the Regulating Act of 1173?

2432131
1773 ¥ WA Tae & T SIS T Ta-R SFRT DI UT?
Lord Harding
A
S IS
Lord Lytton
B

TS fRres

C Lord Ripon
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ars o=

Warren Hastings

aRA ™
Correct Ans : D

Subject : General Knowledge

Q.No: 10 Who among the following recommended the Indian Universities Act, 1904?

2432156
Frafifea & @ fre uRdl fayfaeare sffaw, 1904 3 R &1 di?
Raleigh Commission
A
X maRT
hunter Commission
B
FeX MRt
wood dispatch Commission
C
gs fEata smamr
Macaulay Commission
D

APTa AN

Correct Ans : A

Subject : General Knowledge

Q.No: 11  Which organization publishes the Ease of Doing Business report?

2434465
£ 3t g7 fonr Ruid B T e oY relt § 2
International Monetary Fund
A
SeRTSH a1 H
World Bank
B
fay @
Reserve Bank of India
C
YRt feord §%
World trade organization
D

fay =R e

Correct Ans : B
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Subject : General Knowledge

Q.No: 12 Which planet takes minimum time for completing one orbit around Sun?

2437248
D 1 98 g4 F IRY 3R U U Ot FRA & U gHaw 9wy dar 82
Mercury
A
qY
Earth
B
gt
Mars
C
qrad
Venus
D
Ricd

Correct Ans : A

Subject : General Knowledge

Q.No: 13 Nakta folk song is associated with which of the following Indian States?

2440767

el A Fafafed # ¥ feg YRda 9 ¥ geifid g2

Rajasthan
A

XTI

Maharashtra
B

HERTY

Uttar Pradesh
C

W W™

West Bengal
D

ufym s

Correct Ans : C

Subject : General Knowledge

Q.No: 14 Dr. Rahat Indori was awarded a PhD in Urdu literature from the Bhoj University in for his thesis titled 'Urdu Mein Mushaira'.
2441278

3. 5 $aR) B 370 MR e 3¢ H g & faw Wi fyfaemem 3 # 3¢ wifew # dioas! § gwa far m
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2005
A

2005

1975
B

1975

1995
C

1995

1985
D

1985

Correct Ans : D

Subject : General Knowledge

Q.No: 15 Maheshwar is situated on the bank of which river?

2441417
AR by 7d & de W Ryd &2
Shipra
A
faro
Narmada
B
Har
Kaveri
Cc
BIRY
Betwa
D
et

Correct Ans : B

Subject : General Knowledge

Q.No: 16 Out of the following districts of Madhya Pradesh, which one is in the westernmost position?

2441480
ey ye & Fafeied el # @ 19 a1 e ufyd we w82
Ratlam

A
IqaH

B Shajapur
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AR

Raisen
C

I

Sagar
D

IR

Correct Ans : A

Subject : General Knowledge

Q.No: 17 How many Seats does the State of Madhya Pradesh has in the House of People?

2441729
e U Iod F A qHT H et e 82
24
A
24
26
B
26
27
C
27
29
D
29

Correct Ans : D

Subject : General Knowledge

Q.No: 18 Which district is known as the sugar bowl of Madhya Pradesh?

2441812
T UG HT A= BT HeRl 59 RO 3 w1 I g2
Sidhi
A
weft
Agar Malwa
B
SR HIeAdl
Narsinghpur
C

TRRER

D Jabalpur
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STAYR
Correct Ans : C

Subject : General Knowledge

Q.No: 19 What type of soil is found in the Gird region?

2441821
s &1 ¥ forg bR B v uré oIl 82
Shallow black soil
A
Iyt Hreit gt
Alluvial soil (light)
B
st gt (gwra)
Red and yellow soil
Cc
ra 3T diel frgh
Deep black soil
D

et wrelt frgh
Correct Ans : B

Subject : General Knowledge

Q.No: 20 The famous Rock Garden is located in which city?

2776150
TRig e M 59 TR ¥ fRud 72
Chandigarh
A
ES
Lucknow
B
qTETSH
Agra
C
SITRT
Hyderabad
D
TREE

Correct Ans : A

Subject : General Knowledge
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Q.No: 21 The origin of the mouth takes place during which stage?

2429848
g $ IR g s F et § 2
morula
A
qde
blastulation
B
PREA
gastrulation
C
g
fertilisation
D

IBLER]

Correct Ans : C

Subject : General Science

Q.No: 22 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to
2429936 cyxamine these two statements carefully and select the correct answer to the question from the given options.

Assertion: (A) birds are adapted to fly.

Reason: (R) They have long bones of endoskeleton are pneumatic having air cavities.

féw: Fufafed oy 8 @ FF § RE 3 tF &1 e\ ok g &l 'SR & w0 & A9d fobar ma g
TUHT T G BT BT TS Wi Bt § 3R T U faswedt & I uy &1 9t SR I 7

3ifipy: (U) ufddl @) Ie & Ry srpfid 8
BRU: (3R) T URA 3id:cbebTel B1 oiel BT Sl & T ga 1 T[T gl 2

(A) is true but (R)is false.

A
(A) T4 g Afp (R)TTe 81
(A) is false
B
(A) Td @
(R) is false.
C
(R) T4 g1
(R) is the correct explanation for (A).
D

(R) (A) ¥ foe w@t wWite=w &1
Correct Ans : D

Subject : General Science
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Q.No: 23 Ganga Action Plan was launched in which year?

2431780

o 2pre e o a1 E e

2002
A

2002

1997
B

1997

1985
C

1985

2010
D

2010

Correct Ans : C

Subject : General Science

Q.No: 24 Melanoma is cancer caused in -

2434310
AAAm, ST HW PR -
Blood
A
Yad
Jungs
B
PES
Skin
C
CEl
Kidney
D
frstt

Correct Ans : C

Subject : General Science

Q.No: 25 When a concave mirror forms an image/jpg of exactly the same size as the object, then it means that the object was at -
2436414

T UF fadd YU a%g P 31 I ATBR BT Yfafawd s 8, o 591 3 § 1 avg for e wr off -

A Pole
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9

Principal Focus

= Bied

Radius of Curvature

el B

Infinity
3Hdad

Correct Ans : C

Subject : General Science

Q.No: 26 Which of the following is neutral oxide?

2437208
fofafed # @ o9 dow eSS 82
NO:z
A
NO2
N20s
B
N20s
NO
c
NO
N0
D
N203

Correct Ans : C

Subject : General Science

Q.No: 27 Under which act Eco-sensitive areas are declared?

2439774
fora siftfem & oria wikfRufie ddem=iia &= Ot fbg o &2
By Environment Protection Act, 1980
A
TafaRur wvefor W, 1980 gRT
By Environment Protection Act, 1986
B

yafaRur wReor fUf~aH, 1986 gRT
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By Environment Protection Act, 1975

yafaRur wveor ifif~aH, 1975 gRT

By Environment Protection Act, 1996

yyaRT W& U, 1996 GRT

Correct Ans : B

Subject : General Science

Q.No: 28 Who is the author of Handbook of the Words of India and Pakistan?

2439803
TSP 3t T ISH STt 33T T8 UfredH & A@d HH 82
Medha Patkar
A
YT UTEH
Salim Ali
B
el areft
Chandi Prasad bhatt
C
3} yg Mg
Ravindra Kumar Sinha
D

i puUR gt

Correct Ans : B

Subject : General Science

Q.No: 29 Environment is an indivisible population, which is made up of

2439847
TR T MfIuTST T §, et = 3 B 81
Physical system only
A
Faa Wide a7 9
Interacting systems consisting of physical, biological and cultural elements
B
i, Sfi® & aivplae aal ad TRER® frarfia & @
Biological system only
C

had fde a1 A

D Only cultural system
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Had GRPIaD o7 A
Correct Ans : B

Subject : General Science

Q.No: 30 In which of the following kinetic energy is converted into electrical energy?

2439883
frofafea & @ frw s Sorf @1 fagga St & uRaffa fwar S 82
Only Wind energy
A
Fad ga SHelt
Only Tidal energy
B
Faq TR et
Only Hydro energy
C
Fad gIES! el
Wind energy, Tidal energy and Hydro energy
D

g SHell, SaRIg Sell 3R o Hell

Correct Ans : D

Subject : General Science

Q.No: 31 How many bones are there in an adult human body?

2439930
T IEh I & IRR § P et gy gt 22
206
A
206
512
B
512
300
C
300
100
D
100

Correct Ans : A

Subject : General Science

Q.No: 32 Which of the following is NOT a benefit of ploughing and tilling?
2783657
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fofafad & 9 oF 91 I8 3R 5 TaH BT a1 el 82

Improved soil aeration

A
TeT I | gUR
Enhanced water infiltration
B
5@ gats & gfs
Increased soil erosion
C
T e H g
Weed control
D

TRUGAR o
Correct Ans : C

Subject : General Science

Q.No: 33 Which of the following is an adaptation in plants that helps them disperse their seeds over long distances?

2783803
frofafed & 3 B9 1 0l & U S § off S dl g3 o S Sl ha § Hag Rl 82
Fleshy fruits
A
Hiad d
Wind-dispersed fruits
B
a1 9 fo=y gu wa
Thorns and spines
C
i 3k g
Epiphytic growth
D

tfreTfes gfs

Correct Ans : B

Subject : General Science

Q.No: 34 Which of the following kingdoms includes unicellular, prokaryotic organisms that lack a true nucleus?

2784638
frofafed & 3 fog T # teaiRey, MeRaics sia wfid § o ol Hab o1 3iHE gidT 82
Animalia

A
[

B Plantae
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qreq

Protista
C

uifewer

Monera
D

HART

Correct Ans : D

Subject : General Science

Q.No: 35 Which of the following is a characteristic of asexual reproduction in plants?

2784718
frofafed & & SH-a1 0l § orcdtfiies yome o1 faiwan 2
It involves the fusion of male and female gametes.
A
T TR 3R 9IS TSB! BT Hag- giar 21
It leads to greater genetic diversity.
B
TR TR fafdera wedt &1
Offspring are genetically identical to the parent.
C
T TFERI® U | ATar-far F JuE gl 81
It occurs only in flowering plants.
D

g bad Bd ara Wt & giar g1
Correct Ans : C

Subject : General Science

Q.No: 36 Find the odd number out.

2424529

ST AT BT T Do |

3-27
A

3-27

7-343
B

7-343

9-243
c

9-243

D 11-1331
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11-1331

Correct Ans : C

Subject : General Reasoning

Q.No: 37 Find the odd word out.

2424548
ST oq BT TG BT
Immersion Rod
A
ELEERIE]
Electric Heater
B
TS dex
Fan
C
el
Geyser
D
R

Correct Ans : C

Subject : General Reasoning

Q.No: 38 In the given diagram, Pentagon represents urban, Triangle represents educated and Circle represents employed.
2426591

/6™
>

How many urban educated people are unemployed?

feu T e #, dair wet &1 ufafRfia wxar 8, Bys Rt @1 ufafafia wrar § 9k g9 Faifea @ ufaffa wvar 31

/6N
>

o wed Rt dF RISFIR g2
15
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©

o ©

w o

w

Correct Ans : B

Subject : General Reasoning

Q.No: 39  Which of the following diagram indicates best relation between Teacher, Student and School?

2426739
fraffed & & Si-a1 s Rer, B IR faemed & 9 9e9 o ¥dy ® el 82
A
ONO,
O
B
O 0O
O
©
C
©
D

Correct Ans : A

Subject : General Reasoning
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Q.No: 40 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one
2427797 |jke which the paper will appear when unfolded.

Py _—— -

i
]

=4 -1 S
[
-

F few T Uy MBI H T B & THS HY AST AR FHIeT T 7, TS IR MBI S b F F I IW P BT 9 B, 9N A SR Fre
T BT B Gl W AHA I

P — -———
|

]
| I I |

B A

o
e o0 ©

e o0 O
o

L]

e o0 O
L]

e o0 ©
a

0

o o0 o
o

o0 ©

o o0 o
o

oQC O

oo

o

o0 ©

o0

oo

o0

Correct Ans : D
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Subject : General Reasoning

Q.No: 41 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one
2427813 |jke which the paper will appear when unfolded.

- = - -
r \\ s h
1 i A

\
N
“-‘-

F U T vy Pl H TP SIS B gHS B AIST 3R FIT T 8, < TS IR MNP F Aped H I IU I NP BT 984 IR, o1 [F AL 3R B
T BT B WA W AHT F7

- -
Fi .‘\ s h
1 i ‘

\

N

“-‘.

Correct Ans : A

Subject : General Reasoning
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Q.No: 42 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one
2427814 |jke which the paper will appear when unfolded.

$2 fou TT Uy BT F T B & ThHS Y AST SR BIer T B, & TS IR MBI B RAebedl T A I IR MBI BT 9 B, I b A 3R Pre
T BT B WA W AP T

Correct Ans : C

Subject : General Reasoning
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Q.No: 43 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one
2427822 |jke which the paper will appear when unfolded.

—
n
v I
kY s

~ -

-

F few T Uy MBI H T B & THS HY AST AR HIeT T 7, & TS IR MBI S b F F I IW P BT 9 B, 9N b A IR Fre
T BT B G W AHA I

—
n
! I
A% Fa

-~ -

-

Correct Ans : A

Subject : General Reasoning
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Q.No: 44 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one
2427837 |jke which the paper will appear when unfolded.

___}'J-___II ]

1| r -
[
|
|
I

9 fou U Uy Snpfa | U B F ThS B HIST 3R BIeT T ], & TE SR NPd b [Tl H ¥ 3 IR MBI $T 74T IR, 99 7 WS R e
T BT BT WA R AP T

---"'r---l !

e ]|
il
i K
L]

O

POl

Laelelelel

foto =

Sr e lelelel

€000 2000,

OO0 oD D)

E =

€000 2000,

OO0 oD D)

E =

Correct Ans : B
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Subject : General Reasoning

Q.No: 45 Select the odd one out.

2427907
RD SE TG UJ VN WK
vy g &1 997 B
RD SE TG UJ VN WK
RD

A
RD
TG

B
TG
WK

C
WK

D VN

Correct Ans : C

Subject : General Reasoning

Q.No: 46 From the given answer figure, which will complete the pattern in the question figure?

2433190
Question Figure:
Answer Figures:
(A) (B) (C) (D)
fou MU I epfadl H q, HIF-T Y 3BT F Ted B [ HAI?
T AT
I ATt
(Al (B (<) (D)
A
A
A
B
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C
Cc

D
D

D

Correct Ans : B

Subject : General Reasoning

Q.No: 47 Identify the figure that completes the pattern.
2433515

&

4

MBI BT Uga B ot Yo &Y QI Beell B
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.
P
£

Correct Ans : D

Subject : General Reasoning

Q.No: 48 Select the option that is related to the third number in the same way as the second number is related to the first number.

2434918
134 : 148 :: 153 :?
39 fached &1 9u ¥ ol IRt e A S TR Wi @ S gudt Te ugel T & Weifid B
134 : 148 :: 153 :?
167
A
167
172
B
172
170
C
170
165
D
165

Correct Ans : A

Subject : General Reasoning

Q.No: 49 Identify the classes that best represents the relationship among the given diagram.
2435570

I AN B UgTE Y o 2T MU g & T Yey o1 Ja¥ 3T ufafRfia ad B


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaizy7 Eooale Play

Graduates, teachers, literates

A
wra®, e, Aer
Villagers, Poor persons, Males
B
Ity e wfd, gy
Players, Singers, Students
C
fewrsl, e, s
Tortoise, Mammals, Amphibians
D

HAT, TWAYRT, SHIWR
Correct Ans : A

Subject : General Reasoning

Q.No: 50 Identify the diagram that best represents the relationship among the given classes.

2435682
Movies, Thrill movies, funny movies
I 3NE B U HY S 12T 7U AT & T TeY o1 god 31 ufafRfa S 2
fired, freR P, AoleR b
A
| Irj\I | I‘,___,-’
B
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Correct Ans : C

Subject : General Reasoning

Q.No: 51 Six friends sit in a line . Some are facing north and some facing south.

2720855 e Two people sit between Ankit and Abhi and none of them sit at any corner and Ajay and Abhi are immediate neighbour .
¢ Only Anuj and Arun who sit third to the right of Anuj face South
eAmit and Arun are neighbour and both dose not sit at any corner and Ajay sit at extreme left end.
Who sit at extreme corners ?
BT A U Ui B 98 8 39 I B1 3R W @ T 3R $F T Y iR ST B 7
o 3 AR 3ifFd SR 3l & Ay 93 § 3R I el oft BR R Y a1 B ofe, S USRA B
o Rt 37t iR ore St o ol & o & R RIF R R, afémr 5t of e b &
o 3fAd, 3R BT TSI § IR ST it +ff 8R W T 90 ® 3retg Uikt & Sleb a1 BR R §
G BR R HH I3 32
Abhi, Ankit
A
3fl, aifea
Arun, Amit
B
3, Sifia
Ajay, Anuj
C
8154, 3o
Abhi, Arun
D
3fl, 3R

Correct Ans : C

Subject : General Reasoning

Q.No: 52 Study the following information carefully to answer the questions given below
2727086
WIY@QUP7B*H!LOVM%B8AK~"Q9EO#1C<2T3$SD
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If all the numbers and symbols are dropped from the above arrangement then which of the following is eight to the right of second
from the left?

o ST &1 @ gde sreaqan =i i3 T usit & IR fefone?
WI1Y@UP7B*HILO&VM%B8AKAQOEO#IC<2T34$SD
e I a1 | F Femsht IR ylle! 1 ger fan Se o Fafefed # 8 o1 a1 o @ R & o § 3neal 82

H
A

M
B
C

\"
D

E

Correct Ans : B

Subject : General Reasoning

Q.No: 53 Study the following information carefully to answer the questions given below
2727087
WIY@QUP7B*H!LOVM%B8AK A"Q9EO#1C<2T3$SD

Three of the following four are alike in a certain way based on their position, which of the following does not belongs to that group?

fafifed TFeR &1 eryde siwrmHa = 33 T usi & IR ffo?
W1Y@UP7B*HILO&VM%B8AKAQOEO#JC<2T3$SD
afiad aR & 3 ol UeR ¥ te THE € SR S0 TR S & | 98 B & off 39 9Hg H Wi el 87

WYU

WYU
HL&

HL&
M8K

M8K
QOE

Q9E
Correct Ans : D

Subject : General Reasoning
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Q.No: 54 From the given answer figure, select the one in which the question figure is hidden/embedded in the same way?

2727098
b . -):? .“'n. & --."o_
& T IR el | T8 Sl g S uy e H fAfgd 82
oo
oo
o0
%
A
oo
oo
00
%
Oge
(=]
Onn
B
oge
(=]
I'.\nﬂ
o (o]
o
o0
D

Correct Ans : B
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Subject : General Reasoning

Q.No: 55 Read all information carefully and answer following question?
2727110

Digits/Symbols- * 5§ %+ 2 A © 3 54721689

Codes-AB CDEFG HIJKLMNOFP

(I) If first place is even number and last place is odd number then both places are to be coded by first digit / symbol.
(II) If first place is odd number and last place is even number then both place codes will be interchanged.

14#3$

faw g = 1 0g SR I Y Uy FT W <

HEMFAH-* S %+ #A©3 547216809

FS-ABCDEFG HIJKLMNOP

(1) Tfe Ugd ue gH T § 3R 3ifaw e faww T § oY uge 3R SifdH ue & wis § ugd Ue &1 Bl forar S

(1) Tfe ugan ue faum T § 3R Sifaw Ug IH T §, o Ugd 3R 3ifdH Ue & wrel &1 3oy # ®IF gRad- forar smam

14#3$
GIJMKB

GIMKB

MJEHB

MJEHB
GBEHP

GBEHP
GJEHA

GJEHA
Correct Ans : B

Subject : General Reasoning

Q.No: 56 A garden has 2000 trees. 12% of these are mango trees 18% lemon and the rest are orange trees.
2422319 Find the number of orange trees.

THETTEH 200008 31 STH T 12% A F IS 18% TG AR VT TN B US 31 S & ISl @l
T T BT |

1100 trees

1100 TS

B 1200 trees
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1200 U§

1450 trees
C

1450 U

1400 trees
D

1400 3

Correct Ans : D

Subject : General Maths

Q.No: 57 Ifa:b:c=3:4:9,thentheratio (a+b+c): bis

2429467
gEa:b:c=3:4:9 AUd(a+b+c):b?
16:5
A
16:5
9:7
B
9:7
2:1
C
2:1
4:1
D
4:1

Correct Ans : D

Subject : General Maths

Q.No: 58 The ratio of ducks and frogs in a pond is 33 : 35 respectively. The average number of ducks and frogs in the pond is 136. What is the
2429502 ymper of frogs in the pond?

TP qrae § IO SR Hew! &1 guld HUR: 33 : 35 71 dIae § au iR Hew! @ Sfd W 136 1 i | Hedh! &f & bt 32

132
A

132

140
B

140

136
C

136
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148

148
Correct Ans : B

Subject : General Maths

Q.No: 59 At the rate of 12% per year simple interest, a sum of Rs.6800 will earn how much interest by the end of 4 years

2432821

12% U I8 IR0 S B 2R F, 6800 IUY Pt AR W 4 a9 & 3fd db ham sarer il grmm?

3364
A

3364

3164
B

3164

3264
C

3264

3464
D

3464

Correct Ans : C

Subject : General Maths

Q.No: 60 A man took loan from a bank at the rate of 12% p.a. simple interest. After 3 years he had to pay Rs. 5400 interest only for the
2432890 period. The principal amount borrowed by him was:

AfET 7 TP I W 12% aTics AR TS B &3 W B fordn| 3 a¥ 91g I Fad 39 3@ F {8 5400 $08 & 7 UST| SUP §RT IR o T8 qa@
RUEURIR

Rs 12000

12000 9

Rs 20000

20000 U3
Rs 18000

18000 WA
Rs 15000

15000 39Y

Correct Ans : D
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Subject : General Maths

Q.No: 61 i ; 4 6
2433010 Simplify: 3§ 3=

T2 il L 3% X %

| ba

51
15

51
15

=1 |0

9

7

Correct Ans : B

Subject : General Maths

Q.No: 62 Out of 50 students in a class, 20% passed. How many students passed?
2436839

TH H&T H 50 B & ¥ 20% Il Ul fvam B Sl gue
15

15
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10

20
Cc

20

5
D

5

Correct Ans : B

Subject : General Maths

Q.No: 63 Find the time in years in which Rs.1,000 will amounts to Rs.1,440 at simple interest 11% per annum?

2439135
99 & 98 qHY F1d B orH 11% Ufady & IR 1S W Rs. 1,000 ST Afgd Rs. 1,440 g1 SEN?
3 years
A
3 af
5 years
B
5 af
4 years
c
4 af
6 years
D
6 af

Correct Ans : C

Subject : General Maths

Q.No: 64 A certain sum becomes 7 times in 4 years at simple interest. In how many years it will become 19 times.

2439160

YR AT W T (T A 4 awf F 7 747 8 S 21 ey oot & g 19 A1 €1 oA

9 years
A

9 Y

12 years
B

12 99

6 years
C

6 af

D 10 years
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10 9§

Correct Ans : B

Subject : General Maths

Q.No: 65 A certain weight (in kg) is divided into two parts such that 5 times the first part added to 11 times the second part makes 7 times the
2779535 \hole weight. The ratio of the first part to the second part is:

s A go (fal H) 3 & uri & 39 UeR faviord fasam e 8 i uge YT &7 5 AT SR G U T 11 T[T e WR G a0 &1 7 T[T 81 wirel
B U YR ¥ GE U BT U §:

1:2
A

1:2

5:11
B

5:11

2:1
C

2:1

2:3
D

2:3

Correct Ans : C

Subject : General Maths

Q.No: 66 Radius OP is perpendicular to the chord AB which measures 24 cm. If the radius of the circle measures 13 cm, then find the measure
2781125 of the chord AP.

12 cm
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12 It
-Wﬁcm

4T3 TAT
Sv'ﬁcm

/13 T#T

13 cm

13 I

Correct Ans : B

Subject : General Maths

Q.No: 67 If a regular polygon has 6 sides, then the measure of its interior angle is greater than the measure of its exterior angle by how many
2781227 {egrees?

Ife we Fafiid Tgys Bl 6 Yo €, O 39 3MidRe B0 BT AT 5TP ST6d B0 & AT J fban 37t aifires 82

36e
A

36°

600
B

60°

720
C

720

108
D

108

Correct Ans : B

Subject : General Maths

Q.No: 68  Find the value of a, if (ax + 3y = 9(x - y)>.x £ 0 and y £ 0.
2781241

a & AT AT & TTE, (ax + 3y =9x - vA x = 0 3R vy £ 0§

-1
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-3
B

-3

3
C

3

1
D

1

Correct Ans : B

Subject : General Maths

3'7'\'8(:2%92 If the zeroes of the quadratic polynomial ay?+ by + ¢, ¢ # 0 are equal, then:
ﬂﬁ?ﬁﬂﬂﬂiﬁﬁ ay’+by+c,c20%F I (zeroes) T g, an:
c and b have opposite signs
A
¢ 3R b ¥ faudia g &
c and a have opposite signs
B
ciiRavpfoudfiafee &
c and b have same signs
C
c 3R b & A fag §
c and a have same signs
D

cﬁ?a%'ﬂ'ﬁﬂﬁﬁ%

Correct Ans : D

Subject : General Maths

S anany One of the linear factors of x2 - 5x - 24 is:
x? - 5x - 24 = tfigw THES § 9w &
(x+3)
A
(x+3)
(x-2)
B

(x-2)
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(x+2)
C

(x+2)

(x-3)
D

(x-3)

Correct Ans : A

Subject : General Maths

Q.No: 71 Which two numbers should be interchanged to make the given equation correct?
2426647

9+6x4-27+13 =22

feu U iR 1 U §F & o fo &l gl &) Sy § Sedr S afeu?

9+6x4-27+13 =22

6 and 13
A

6 3R 13

27 and 9
B

27 3R 9

9 and 6
c

936

6 and 4
D

6 3 4

Correct Ans : B

Subject : Mental Ability

34“'2‘;67522 Below four positions of a dice are given with A, B, C, D_E and F on each different faces.

Which letter will be the opposite of “*C'.
E C D B
C E B A
A D C C
I II I v

e v Ry fir TR Feufaat & o € B uoie W GO WA, B, ¢, 0, e AT FE
Fi & &/ & fala gem
E /] c /1 0/l /B

C E B A
A D C C

I I i) v
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A
A

A
B

F

B
C

B

C
D

C

Correct Ans : B

Subject : Mental Ability

Q.No: 73 In the following question, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to
2430234 e trye even if they seem to be at variance from commonly known facts. You are to decide which of the given conclusions, if any,
follow from the given statements. Indicate your answer.

Statements: Style is a form of ugliness so intolerable, we have to alter it appropriate every six months.
Conclusions:
I. Style designers don't understand the public mind very well.

I1. The public is highly susceptible to novelty.

Fafafad oy 7 3 By 3R ITF o1 &) ey (1) 3R (1) 3T MW B 3Mush! HuHl & T HIFAT 8, Mol 8 d WHARIG: F1d aedt 9 i w81 &
U] T8 T BT ¢ b faw MU Feanet & § o1 91, 9l H1F 7Y, AU T Ho=T B7 Ure HRal 31 U IR BT TG HR:

FYA: V3A TEUA $T TP ¥ § Sl 01 61 § b o1 8% B8 Ao H 390 9qad H1 Usdl o
s

1. WIsd fSOTER ST & feAm ® ordt ke ¥ 718! uHer ¢l

I1. ST a1 & Ui sicafiies Hae=id g

Only conclusion I follows

A
Fad sy I IR T &
Only conclusion II follows
B
Faa Frepd 11 SwR HaT §
Either conclusion I or II follows
C

a7 at s 197 I 3R BeaT §

D Both conclusion I and II follow
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frepd 1 AR 11 QT SR B &

Correct Ans : D

Subject : Mental Ability

Q.No: 74 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to
2430263 pe true even if they seem to be at variance from commonly known facts. You are to decide which of the given conclusions, if any,
follow from the given statements. Indicate your answer.

Statements: Women plays a vital role in politics.
Conclusions:
I. The good people can become politicians.

II. All the rich women take part in politics.

e vy § < 3 3R I9% a8 of sy (1) 3R (1) fRT 7T §1 s uAT & I AFAT 8, A 8 3 IMEa: 1d at 3 e udia 8ia o
U T8 T BT ¢ 16 QU 0 Freewt & o1 W1, aft B 7Y, U T Ho=t H7 urer BRal 31 U IR BT TG BR:

FY: JoG F AfRarslt B orgw YivwT St B
e

1. 3= T IS &9 Tohd g1

11, Tt et TfRamy e & YT S §

Only conclusion I follows

A
Fad Fred 1 3geR Svar €
Only conclusion II follows
B
Faa Frepd 11 3w H3al ¢
Either conclusion I or II follows
C
a1 &t fpd 1 a1 11 SR HRar @
Neither conclusion I nor II follows
D

T dt frsepd 1 3R 7 & IT SER ST @
Correct Ans : D

Subject : Mental Ability

Q.No: 75
2436537

If “+° means ‘-, “=" means “+°, *-> means ‘x °, *x” means ‘=", then which of the following equations is

correct?

THIRLOT TGl 87
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A
265 +11-2x14=22
2-14%x4+11=16
B
2-14%x4+11=16
46 -10+10x5=92
C
46 -10+10x5=92
66 %3 11+12=230
D

66 x3—-11+12=230

Correct Ans : D

Subject : Mental Ability

Q.No: 76 The calendar of 1971 used just after in the year?

2437415

1971 &1 Haex ¥ & di a1g IuanT fawan mar?

1977
A

1977

1980
B

1980

1976
C

1976

1982
D

1982

Correct Ans : D

Subject : Mental Ability

Q.No: 77 If two days before yesterday was Friday, what day will be day after tomorrow?
2437436

Ife $a F 3 o7 U YEhaR AT, d WA S A1 2T ghme

Monday

JHAR

B Sunday

GET IT ON

Google Play
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faar
Saturday
C
RUEEIN
Wednesday
D
qYarR

Correct Ans : D

Subject : Mental Ability

Q.No: 78 Complete the following series

2438780
13, 39, 118, 356, 1071, 3217, ?
[REINICCECRICa R N C
13, 39, 118, 356, 1071, 3217, ?
9656
A
9656
6459
B
6459
6355
Cc
6355
9649
D
9649

Correct Ans : A

Subject : Mental Ability

Q.No: 79 Pointing to his son’s portrait, a man said to a woman. ‘His mother is the only daughter of your mother’. How was the woman related
2439346 g the man?

TH I3V A 30 GF F o Bl 3R 3IRT IR U U A I FgT| 'IUBT WY R AT BI 3 aeT 7' | AR BT g3V F T Ty UT?

Sister
A

ggd

Mother
B

-

C Wife
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el

Daughter

3

Correct Ans : C

Subject : Mental Ability

Q.No: 80 A person while buying a dress on sale spends 45 and saves 5, what is the percentage of his savings?

2442251

% e I B e Tied THT 3,45 T AT 8 AR 3.5 99 Bl ¢ IB! §d HT UaRd &1 82

5%
A

5%

10%
B

10%

15%
o

15%

20%
D

20%

Correct Ans : B

Subject : Mental Ability

Q.No: 81 Which one word can be formed from the following letters?
2442850

a s bol teu

frafafad seRt ¥ 19-91 T e ST o JhdT 87

a s bol teu

absort

absort

absolute

absolute

alligator

alligator

D administration
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administration

Correct Ans :

Subject : Mental Ability

Q.No: 82 Select the correct mirror image/jpg of the given figure when the mirror is placed on the right of the figure.

2442936

U &1 = <) T el P el 3R @A W a4 arel et uRife @1 whe B

—e
==
<

—o
==

AT |1t @

Gl

=

Xl

GET IT ON
Google Play
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0—
[
o
e
===
o—

3

=
o—

Correct Ans : B

Subject : Mental Ability

Q.No: 83 Three statements are followed by three conclusions numbered I, II and III. You have to consider these statements to be true, even if
2727633 they seem to be at variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given
statement.

Statement:

All teachers are educated.
Some educated are school.
Some educated are room.
Conclusions:

(I) Some teacher are room.
(II) No teacher is room.

(III) Some school are not room.
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Fafafad oy 7 7 fou e § % a1g &9 fsed 1,11 9 111 RU 71U § 3ueh! 371 Sl & I AT 8, ol & d gdwid awl ¥ i wedia 81 g
feu T freest & § B 91 ey U T By o difthd T SRR BT 7

BY:
Tt e Rifea g

Fo Rifed T g1

Fo Rifta s {

forep:

(1) T8 e FW T

(11) P e W T 7

(111) T© Ta HA TeT B
If only I follow

Pad ey 1 IR0 S &

If only II follows

Faa ey I a0 a1 &

If only III follows

Faa ey 11T SR ST @

If either I or II follows

a1 &t fspd 1 a1 e 11 SRRYT FRan @
Correct Ans : D

Subject : Mental Ability

Q.No: 84 Which of the following letter will be 7th from the right if the first and last, second and second last and so on are interchanged from
2782070 the word “CENTRALIZE"?

Ife Teg “"CENTRALIZE” & U5l 3R & 3&R &1 oMy H Saall Sl 3, ORIk GO i 3fer 1 oy # gad faar o ¢ ok s dg df a &

radl 3feR B T g?
A
A
A
B
R
L
C
L
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E
Correct Ans : C

Subject : Mental Ability

Q.No: 85 Select the related word/ letters/ number from the given alternatives.

2782087
14: 125:: 43 :7?
fou U fawmedt & @ Il Wea/ Ser/IAE &1 AT B
14: 125:: 43:7?
555
A
555
23
B
23
671
C
671
343
D
343

Correct Ans : D

Subject : Mental Ability

Q.No: 86 Product of two numbers is 135. HCF is 9. Find out the LCM.

2427247

T et &1 UHEE 135 §1 HCF, 9 ¥ LCM F1d Siforg|

17
A

17

19
B

19

15
C

15

13
D

13

Correct Ans : C

Subject : General Aptitude


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addacy47 Eoogle Play

Q.No: 87 A shopkeeper has 60 kg and 90 kg, two kind of Rice bags. He wants to sell the Rice by putting the two kind of Rice in bags of equal
2427265 gjzes. What is the greatest of such bag?

TP gHHER & U 60 BT 3R 90 w1, 1 UhR F 19 & I &1 98 &1 UBR P I19d B YA PR & Il H STadR 1ad ST agdl g1 T8 a7
T T 981 71 8?

10 kg

10 frarm
15 kg

15 frarm
45 kg

45 fraum
30 kg

30 fPaum

Correct Ans : D

Subject : General Aptitude

Q.No: 88 A man goes a distance of 360 km in 4 hours by bike. Calculate the speed of bike in m/s.

2427286

% e 9185F 9 4 6 & 360 5 B g 7 wrar 31 WA H I15% @I AT B N0AT B

20 m/s
A

20 #i/3

25 m/s
B

25 #i/9

30 m/s
C

30 #i/¥&

23 m/s
D

23 #i/9

Correct Ans : B

Subject : General Aptitude

Q.No: 89 If a man can run 10 metres in one second, calculate how many metres can run in 115 second?
2427344
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3R B8 ATGH TP Yhs | 10 Hiex IS JobaT € df TUAT X & 115 Jbs | fobar Hiex 3 I €7

1536 m

A
1536 Hiex
1150 m

B
1150 HieR
960 m

C
960 Hex
1500 m

D
1500 Hiex

Correct Ans : B

Subject : General Aptitude

Q.No: 90 Find the largest fraction of the following fractions?
2432026

fFafefad el & 4 9 st fir F1d sifoe?

=T ]

14
16

14
16

23
21

23
21

19
17

19

17

Correct Ans : D

Subject : General Aptitude
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Q.No: 91 A 230 m long train has to cross a platform of length 750 m. If the train is running at a speed of 72 km/h the time taken is :
2435971

230 m T T ¢ Bl 750 m S WeHTH Bl UR S 81 afe 3 72
km/h @1 70 § 99 6T B, A Wewid & UR IR B S Bl $d foaqT T @RI?

49 seconds

A

49 AFS

58 seconds
B

58 ¥ds

64 seconds
C

64 AFS

72 seconds
D

72 Ybs

Correct Ans : A

Subject : General Aptitude

Q.No: 92 For what value of x is the seven digit number 46393x8 divisible by 11?

2436208

x ¥ g 49 & U I1d it areh TBm 463938, TBAT 11 ¥ AU &2

5
A

5

3
B

3

2
c

2

7
D

7

Correct Ans : B

Subject : General Aptitude

Q.No: 93 What value would come in place of the question mark (?) in the following equation?
2437014

7 X (160 + 289) = [7 x (505 — 56)]=?

Fafafea whexo & uyares fae (2) & /M W &1 0 ST
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7 x (160 + 289) = [7 x (505 — 56)] = ?

7
A

7

17
B

17

1
C

1

21
D

21

Correct Ans : C

Subject : General Aptitude

Q.No: 94 If 8girls and 12boys can do the piece of work in 4days and 10girls and 6boys con do it is 6 days. How long will 5girls and 3boys take
2438242 to do it?

Tfe 8 ASfehal 3R 12 TS® fhdl BM Bl 4 el T R b & 3R 10 TSfBT 3R 6 TSP AABR B B § d 6 fo BId §15 dsfbar 3R 3 dsd
T B | e Iy A7

14 days

14 f&q

11 days

11 f&q

12 days

12 &3

13 days

13 fa=

Correct Ans : C

Subject : General Aptitude

Q.No: 95 A can do a work in 14 days and working together A and B can do the same work in 10 days. In what time can B alone do the work?
2438327

A 14 & 7 T B BR gohal § 3R A TF B TH-T1Y fAar 10 & 8§ o1 o= Tohd §1 B bl b I & 39 &1 &1 R obel 82

25 days
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25 &=
30 days

30 f&
23 days

23 f&=
35 days

35 faq

Correct Ans : D

Subject : General Aptitude

Sanaars The probability that A can solve a problem is g and B can solve is % The probability

that at least one of A and B can solve the problem is:

U 991d &l A %mmﬁﬁaﬁﬁmﬁw%aws %msﬂﬁ?&mﬁaﬁuﬁwgﬁlsﬂ
Sd D I UAEd e b A IR H U HH U HH U & gRI UaId gd (a1 off B

L1 I ¥

L9 I I8 ]

13
15

13
15

Correct Ans : B

Subject : General Aptitude
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Q.No: 97

2444549 In a parallelogram ABCD, the angle bisector of angle A cuts extended side BC at E. If angle BAD = 60°,

then find the angle AEC?

U THATH T8 ABCD # FI0T A FT THE[AHT 81 BC &I @& W E W FIEare] IfE FI0TBA
D = 600 @ ST AEC &1 AT dd15|

30°
A
30°
60°
B
60°
ST
c 120
120°
150
D
150°

Correct Ans : A

Subject : General Aptitude

Q.No: 98 DIRECTIONS: What should come in place of the question mark (?) in the following question?
2444641
656, 352, 200, 124, 86, ?

frdmr: Fufafaa uy & uyaes o (?) & R R 31 341 A1fee?

656, 352, 200, 124, 86, ?

67
A

67

59
B

59

62
Cc

62

57
D

57

Correct Ans : A

Subject : General Aptitude
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Q.No: 99 1p the following figure, 'O’ is the centre of the circle and 'C'is a
2730261 point on the minor arc AB. Find the measure of #CBO.

@ 3efca #. ged & &g '0'§ 3N 'C @Y T ABW
U feic, & £CBO &1 HIl Ald &Yl

60°
A

60°

72°
B

72°

68°
C

68°

78°
D

78°

Correct Ans : C

Subject : General Aptitude

Q.No: 100 Simplify:

2779447
Va1 + 3/ez

3% +42 4+ 37218
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WA o
VB1 + %64

_J33 +42 + 3216

iz
13

12
13

13
17

13

17

Correct Ans : B

Subject : General Aptitude
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